EARAROBEEIERT — 2 N— IBISH —F

2018%F9H24H (B) sEIZH4H

K@ C3—3 C3 5% EEDE IR
[A&4£] 1 7 :200,000™ ~ 23#%&:60,000H”  33&:30,000H”  437:20,000MH .~ 57&:10,000
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
L e 124, —-3-2- . — 2E— (BH)
ilaliol 7 =7z 1 *6 | L Al IR BRI -+
LY L4 N—b BEY R ETT7y b N=tie]
= I=IES : —1-1- - ITHER (FH)
olglg| NFTFIT— -+ i R ? ?_579) AEEET
L:F=TTVIT BX—NWKoh /7 &= %
— . KIEHFER : 55— — RAX (&)
3077/ P2TU—-F12 5 | A% 1.(25.4 6-5-5-3 | 41.0 5 12(1)? i
LA KTY2—) B:YavFihHUE BT — L
e e e TAAAH : 77 _ @lleE (S
4 o | RTFFXLIET # o7 §g§_0 1.(257).5 8-7-7-6 | 41.7 3 (5_13 %nﬁlmf( 1)
R:d—IWRF7Y21—Ib BRTFREF— [Ea=Fier]
Soa s = AAH :28. —4-4- . — Arhfh— (FH)
5055 F'?’T’FV/‘/T{ H o4 o 1(238)1 5-4-4-4 42.8 6 (4‘&)) i
L:d—IRAqO— B:7TUEET Y b Rl EE
. S HERIE :28. == . — MEELEHL (FH)
6l7lg|/—FworLez o (7 i i S [ s
R:vA42INTT B:IAI HALER Wi Eis
NN R BESK : -10-10- — FFRA ()
1 : BEZVEOM # 5 | AR 1.(218>.4 10-10-10-10] 41.1 8 <4f74) B
L:7=U74—=X B:NZO-U>Y AEXERE
o= o e+ E2 8% : -8-8- — HAKE (SH)
sl 6| Z7v hNLZR # 10 54.0 1(72?:;5 [ R 10 :?Z) R
RiANRTNGR B:TIRIIIL FAF04S
—: o\ REE—BR :29. -9-9- . — NEHBEE (FH)
ol1l1|F1xrmeT B4 e (12219/20) 9-9-9-9 | 42.3 9 <4+511) Ee
R:d7—3IUF7> B:eyT7=< At HER
> 9 | AR :30. 9| - RIFFER (BH)
10l 4| AB1T7 LR X Ny | T M ! 3367) ar
RYITNTI A~ B RYUTL K4S
® 1—F—@EBIERL
1T=7r= 9,8,10,4,5,7,6,2,1,3
20—F— 9,8,10,5,7,4,2,6,1,3
3= —F5— 9,(8,10),5,(4,7),2,6,1,3
40 —F— 10,9,7,5,8,2,4,6,1,3
[ N5
B 10 130M 714K 9-10 130 B 8-8 210 JEE 7-9-10 350F9
B B 10 100M 7-10 190 B = 9-10 170 JEE 10-9-7 9004
9 110M 7-9 380 B E 10-9 210/
7 1209

ABICOVWTRDTEEERROODE. TR LIV,




